12th Grade                                                           Answers ( Paper One )                        23/12/2012 
Part One : Reading :

A: Answer :  ( 10 Points ) 
1: ( 2 Points ) Rubbish used to be dumped or burned either on hand or at sea.
2: ( 2 Points ) Sites now have to be carefully constructed to prevent pollution and the world is running out of holes.
3: ( 2× 3 = 6 ) a. It reduces disposal costs.

                         b. It saves the producer money and limits price rises.

                         c. It creates jobs.

B: True / False ( 5× 2 = 10 ) a. :  T     b.  F     c.  T          d.  F              e. T 
C: Complete :  ( 6 Points ) 

a. air, ground and water pollution.

b. prevent pollution-toxic leaks into the groundwater.

D: Say what these words refer to : ( 3× 2 = 6 )
     1. it: burying rubbish or landfill.

     2. itself: Recycling.

     3. 20 times: the number of times by which it is more expensive to make new Aluminum than recycling it.
E: Find Synonyms :  ( 4 Points ) 

     1. Constructed           2. Sites                     3. Break down               4. Poisonous  

F: Find opposites : ( 4 Points ) 

    1. Partly                  2. More               3. Good             4. Expensive  

___________________________________________________________________________________ 
Part Two: Vocabulary

Q1: ( 6×  0.5 = 3 ) 1: withdraw     2: interest     3: life expectancy     4: go ahead    5: soon   6: data 

Q2: ( 6×  0.5 = 3 ) 1: maintain     2: emissions   3: faced    4: chaos      5: quarters       6: pay back 

Q3: ( 5×  1 = 5 )   1: productive    2: careful     3: financial     4: width       5: polluting 

Q4: ( 4×  1 = 4 )  1: permanently     2: prevent        3:  income      4: top 

Q5: ( 4×  1 = 4 )  1: therefore      2: although      3: because of      4: despite 

Q6:  A: ( 3×  1 = 3 ) 1: well       2: power          3: screen 

       B: ( 5×  1 = 5 )    1: cola       2:   b       3: a                  4: c             5: b
       C: ( 4×  1 = 4 ) 1: south – west     2: fourteen point four per cent .  3: maximum     4: three - fourths  

       D: ( 4×  1 = 4 )  1: long  before           2: dark night               3: dangerous     4: hard   

